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     Part – A  10 x  2 = 10 Marks 

    Answer All of the questions 

1. State the importance of finance. 

2. What is meant by financial management?  

3. Write short note on Bank Credit. 

4. What is trade credit? 

5. Define cost of capital. 

6. Write a note on Walter's model of dividend.  

7. What is Accounting rate of return? 

8. What is ‘Capital Rationing’? 

9. What are the sources of short-term working capital?  

10. List out the various tools of inventory Management.  

     Part – B   5  x  5 = 25 Marks 

    Answer All of the questions 

11. (a) Distinguish between profit maximisation and wealth maximisation.  

    [OR] 

(b) Explain the objectives of financial management. 

 

12. (a) State the purpose of long term finance. 

     [OR] 

(b) Describe the merits and demerits of installment credit. 

 

13. (a) The following projections have been given in respect of companies X and Y 

Particulars Company X Company Y 

Volume of output and sales 

Fixed cost 

Selling price per unit 

Variable cost per unit 

80,000 units 

Rs.2,40,000 

Rs.10 

Rs.4 

1,00,000 units 

Rs.2,50,000 

Rs.8 

Rs.3 

On the basis of the above information calculate Operating Leverage 

    [OR] 
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(b) The following information is available in respect of Radhika Ltd. Capitalization rate 15 %; 

Earnings per share Rs.100. Assumed return on investment: 20 % .Show the effect of dividend 

policy on market price per share applying Walter’s Formula when dividend payout is 40 %. 

14. (a) Explain the process of capital budgeting. 

     [OR] 

(b) GK Ltd.  is considering the purchase of a machine.  Two machines are available J and K. 

The cost of each machine is Rs.60, 000.  Each machine has an expected life of 5 years. Net 

profits before tax during the expected life of the machines are given below: 

Year J   
Rs. 

K 
Rs. 

1 

2 

3 

4 

5 

15,000 

20,000 

25,000 

15,000 

10,000 

5,000 

15,000 

20,000 

30,000 

20,000 

 85,000 90,000 

Following the method of return on investment ascertain which of the alternatives will be more 

profitable.  The average rate of tax may be taken at 50%. 

 

15. (a) Discuss the factors that determine the working capital needs 

    [OR] 

(b) From the following information, calculate the average collection period: 

 Total sales   Rs.1,00,000 

 Cash sales   Rs.20,000 

 Sales return   Rs.7,000 

 Debtors at the end of the year Rs.11,000 

 Bills receivable  Rs.4,000 

 Creditors   Rs.15,000 

 

Part – C       3  x  10 = 30 Marks 

   Answer any Three of the questions 

16. Explain the approaches to financial management. 

17. Discuss the different types of lease 

18. Following particulars are relating to three companies. 

A Ltd (Growth Firm) B Ltd (Normal Firm) C Ltd (Decline Firm) 

r = 15 % r = 10 % r = 5 % 
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ke  = 10 % 

E = Rs.8 

ke  = 10 % 

E = Rs.8 

ke  = 10 % 

E = Rs.8 

Using Walter’s Model, calculate the value of equity share of each of these companies if the 

dividend payout is 

 a)  25 %  b)  50 %  c) 75 % 

 

19. Shalini Industries is considering the purchase of a new machine which carry out some 

operations now performed by manual labour.  Two alternative models are under consideration.  

The following information are available: 

 Machinery X Machinery  Y 

Cost of machines Rs. 

Life time (years) 

Savings in scrap (material) Rs. 

Savings in labour Rs. 

Additional Cost Per annum: 

Supervision Rs. 

Maintenance Rs. 

Indirect Material Rs. 

Tax rate in % 

3,00,000 

4 

45,000 

1,40,000 

 

10,000 

6,000 

4,000 

50 

5,00,000 

5 

50,000 

1,80,000 

 

15,000 

10,000 

5,000 

50 

Using discounted cash flow method, prepare a statement of profitability and recommend the 

profitable machine.  At the prevailing rate of 12% the present values are as follows: 

I  Year II  Year III  Year IV Year V Year 

0.893 0.797 0.712 0.639 0.567 

 

20. Dakshith Ltd., is engaged in customer retailing. You are required to forecast their working 

capital requirements from the following information: 

a) Project annual sales Rs.6,50,000 

b) Percentage of net profit to cost of sales 25% 

c) Average credit allowed to debtors 10 weeks. 

d) Average credit allowed by creditors 4 weeks. 

e) Average stock carrying (in terms of sales requirement) 8 weeks 

f) Add 20% to allow for contingencies. 

 @@@@@@@@@@ 
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Time : 3 Hours       Maximum :  75 Marks 

     Part – A  10 x  2 = 10 Marks 

    Answer All of the questions 

1. State the importance of finance. 

2. What is meant by financial management?  

3. Write short note on Bank Credit. 

4. What is trade credit? 

5. Define cost of capital. 

6. Write a note on Walter's model of dividend.  

7. What is Accounting rate of return? 

8. What is ‘Capital Rationing’? 

9. What are the sources of short-term working capital?  

10. List out the various tools of inventory Management.  

     Part – B   5  x  5 = 25 Marks 

    Answer All of the questions 

11. (a) Distinguish between profit maximisation and wealth maximisation.  

    [OR] 

(b) Explain the objectives of financial management. 

 

12. (a) State the purpose of long term finance. 

     [OR] 

(b) Describe the merits and demerits of installment credit. 

 

13. (a) The following projections have been given in respect of companies X and Y 

Particulars Company X Company Y 

Volume of output and sales 

Fixed cost 

Selling price per unit 

Variable cost per unit 

80,000 units 

Rs.2,40,000 

Rs.10 

Rs.4 

1,00,000 units 

Rs.2,50,000 

Rs.8 

Rs.3 

On the basis of the above information calculate Operating Leverage 

    [OR] 
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(b) The following information is available in respect of Radhika Ltd. Capitalization rate 15 %; 

Earnings per share Rs.100. Assumed return on investment: 20 % .Show the effect of dividend 

policy on market price per share applying Walter’s Formula when dividend payout is 40 %. 

14. (a) Explain the process of capital budgeting. 

     [OR] 

(b) GK Ltd.  is considering the purchase of a machine.  Two machines are available J and K. 

The cost of each machine is Rs.60, 000.  Each machine has an expected life of 5 years. Net 

profits before tax during the expected life of the machines are given below: 

Year J   
Rs. 

K 
Rs. 

1 

2 

3 

4 

5 

15,000 

20,000 

25,000 

15,000 

10,000 

5,000 

15,000 

20,000 

30,000 

20,000 

 85,000 90,000 

Following the method of return on investment ascertain which of the alternatives will be more 

profitable.  The average rate of tax may be taken at 50%. 

 

15. (a) Discuss the factors that determine the working capital needs 

    [OR] 

(b) From the following information, calculate the average collection period: 

 Total sales   Rs.1,00,000 

 Cash sales   Rs.20,000 

 Sales return   Rs.7,000 

 Debtors at the end of the year Rs.11,000 

 Bills receivable  Rs.4,000 

 Creditors   Rs.15,000 

 

Part – C       3  x  10 = 30 Marks 

   Answer any Three of the questions 

16. Explain the approaches to financial management. 

17. Discuss the different types of lease 

18. Following particulars are relating to three companies. 

A Ltd (Growth Firm) B Ltd (Normal Firm) C Ltd (Decline Firm) 

r = 15 % r = 10 % r = 5 % 
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ke  = 10 % 

E = Rs.8 

ke  = 10 % 

E = Rs.8 

ke  = 10 % 

E = Rs.8 

Using Walter’s Model, calculate the value of equity share of each of these companies if the 

dividend payout is 

 a)  25 %  b)  50 %  c) 75 % 

 

19. Shalini Industries is considering the purchase of a new machine which carry out some 

operations now performed by manual labour.  Two alternative models are under consideration.  

The following information are available: 

 Machinery X Machinery  Y 

Cost of machines Rs. 

Life time (years) 

Savings in scrap (material) Rs. 

Savings in labour Rs. 

Additional Cost Per annum: 

Supervision Rs. 

Maintenance Rs. 

Indirect Material Rs. 

Tax rate in % 

3,00,000 

4 

45,000 

1,40,000 

 

10,000 

6,000 

4,000 

50 

5,00,000 

5 

50,000 

1,80,000 

 

15,000 

10,000 

5,000 

50 

Using discounted cash flow method, prepare a statement of profitability and recommend the 

profitable machine.  At the prevailing rate of 12% the present values are as follows: 

I  Year II  Year III  Year IV Year V Year 

0.893 0.797 0.712 0.639 0.567 

 

20. Dakshith Ltd., is engaged in customer retailing. You are required to forecast their working 

capital requirements from the following information: 

a) Project annual sales Rs.6,50,000 

b) Percentage of net profit to cost of sales 25% 

c) Average credit allowed to debtors 10 weeks. 

d) Average credit allowed by creditors 4 weeks. 

e) Average stock carrying (in terms of sales requirement) 8 weeks 

f) Add 20% to allow for contingencies. 

 @@@@@@@@@@ 
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Part- A  Marks: 10 x 2 = 20 

(Answer ALL Wuestions)  

1. Define management Accounting.

2. What is financial Accounting?

3. What are ‘Financial statements’?

4. Write short note on Debtors Turnover Ratio.

5. What is meant by the term ‘Fund’?

6. Which transactions cause increase of working capital?

7. Define marginal cost.

8. What does P/V Ratio indicate?

9. What do you understand by capital structure?

10. What is optimal capital structure?

Part- B Marks: 5 x 5 = 25 

            (Answer ALL Questions)  

11.a) “Management Accounting is accounting for effective management”. Explain. 

(OR) 

b) How does management accounting differ from financial accounting?

12.a) From the following Balance Sheet of a company, you are required to prepare a common-size 

Balance Sheet. 

Balance Sheet as on 31st Dec. 

Liabilities Rs. Assets Rs. 

Equity share capital 1,25,000 Plant & Machinery 2,00,000 

Preference Share capital 50,000 Furniture 12,140 

Reserves 55,000 Current Assets 1,69,500 

Profit & Loss A/c 35,000 

Current Liabilities 1,16,640 

3,81,640 3,81,640 

(OR) 

b) From the following information, prepare a comparative Balance Sheet of Deepti Ltd.,
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Particulars 31.3.2005 (Rs) 31.3.2004 (Rs) 

Equity share capital 50,00,000 50,00,000 

Fixed assets 72,00,000 60,00,000 

Reserves and Surplus 12,00,000 10,00,000 

Investments 10,00,000 10,00,000 

Long-term loans 30,00,000 30,00,000 

 Current Assets 21,00,000 30,00,000 

Current Liabilities 11,00,000 10,00,000 

13.a) From the following information, calculate creditors turnover and average age of accounts 

payable. 

Credit purchase         = Rs. 9,60,000 

Creditors = Rs.    96,000 

Bills payable = Rs.     64,000 

 (OR) 

b) i) A company has a capital of Rs. 10,00,000.  Its turnover is three times and the margin on sales 

is 6%.  Find out the return on investment. 

ii) From the following information, calculate average collection period.

Total sales    =  Rs. 1,00,000 

Cash sales (included in total sales)   =  Rs.    20,000 

Sales returns             =  Rs.      7,000 

Total debtors at the end of the year  =  Rs.    11,000 

Bills receivable =  Rs.      4,000 

Provision for bad debts   =  Rs.      1,000 

Creditors =  Rs.    10,000 

14.a) From the following data, calculate Break-Even Point expressed in terms of units and also the 

new B.E.P if selling price is reduced by 10%. 

Fixed expenses: 

Depreciation Rs.1,00,000 

Salaries Rs. 1,00,000 

Selling price Rs. 10 per unit 

Variable expenses: 

Materials Rs. 3 per unit 

Labour  Rs. 2 per unit.   

(OR) 
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b) From the following data, calculate i) P/V ratio and ii) Profit

Sales  Rs. 20,000 

Fixed expenses Rs.    4,000 

Break-even point Rs.  10,000 

15 a) X Ltd., is expecting an annual EBIT of Rs. 1 lakh. The company has Rs. 4 lakhs in 10% 

debentures.  The cost of equity capital or capitalization rate is 12.5%.  You are required to 

calculate the total value of the firm according to Net Income Approach.  

(OR) 

  b). XYZ Ltd., expects earnings before interest and tax of Rs. 6,00,000 and belongs to risk class of 

10%.  You are required  to calculate the value of the firm and cost of  equity capital (according to 

the NOI approach) if it employs 8% debt to the extent of 20%,40% or 60% of the total financial 

requirement of Rs. 30,00,000. 

        Part - C    Marks: 3 x 10 = 30 

(Answer Any Three questions) 

16.”Management Accounting is the best tool for the management to achieve higher profit and efficient 

operations”- Explain. 

17. The following are the budgeted expenses for the production of 10,000 units:

Direct materials 60 

Direct Labour 30 

Variable overheads 25 

Fixed overheads (Rs. 1,50,000) 15 

Variable expenses (Direct) 5 

Selling expenses (10% fixed) 15 

Administration expenses (Rs. 50,000 fixed) 5 

Distribution expenses (20% fixed) 5 

Total cost of sales per unit 160 

18. Prepare a funds flow statement from the following data

Liabilities 31.12.87 31.12.88 Assets 31.12.87 31.12.88 

Equity capital 10,000 10,600 Fixed Assets 10,000 11,600 

Long-term debt 2,800 2,600 Debtors 1,600 1,400 

Retained earnings 5,600 7,400 Inventories 6,200 6,400 

Accumulated 

depreciation 

4,200 5,000 Bills receivable 4,800 5,400 
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Bills payable 4,000 4,200 Cash 4,000 5,000 

26,600 29,800 26,600 29,800 

Additional Information: 

i).  Fixed assets costing Rs. 2,400 were purchased for cash. 

ii) Fixed assets (original cost Rs. 800; Accumulated depreciation of Rs. 300) were sold at book

value. 

iii) Depreciation for the year 1988 amounted to Rs. 1,100 and debited to profit and Loss account.

iv) Dividend paid amounted to Rs. 600 in 1988.

v) Reported income for 1988 Rs. 2,400

19. Reliance Battery Co. furnishes you the following information:

Particulars First Year (Rs) Second Year   (Rs.) 

Sales 8,10,000 10,26,000 

Profit     21,600       64,800 

From the above, you are required to compute the following assuming that the fixed cost remains the 

same in both the period: 

i) Profit/Volume ration

ii) Fixed cost

iii) The amount of profit or loss when sales are Rs. 6,48,000

iv) The amount of sales required to earn a profit of Rs. 1,08,000 and

v) Sales at Break-Even Point.

20. A firm has sales of Rs. 20,00,000;, variable cost of Rs. 14,00,000 and fixed costs of Rs. 4,00,000

and debt of Rs. 10,00,000 at 10% rate of interest.  What are the operating, financial and combined 

leverages?.   

If the firm wants to double its Earnings before Interest and Tax (EBIT), how much of a rise in 

sales would be needed on a percentage basis?   

@@@@@@@@@@ 
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SECTION – A    ( 10 x 2 = 20) 

Answer All Questions 

1. Define Market. 

2. What is customer relationship management? 

3. State the meaning of brand loyalty. 

4. What is marketing mix? 

5. Who is called as retailer? 

6. Mention any two modern retailing practices in India. 

7. Define Advertising. 

8. What is personal selling? 

9. What is Telemarketing? 

10. Mention any two benefits of digital marketing. 

    SECTION – B     ( 5 x 5 = 25) 

    Answer all questions 

11. (a) State the importance of marketing. 

OR 

(b) What are the objectives of market segmentation? 

12. (a) Distinguish between product and services. 

OR 

(b) List out the merits of packaging. 

13. (a) Explain the role played by the wholesalers and retailers as market intermediaries. 

OR 

(b) Discuss the advantages of direct marketing. 

14. (a) What are the qualities expected of a salesman? 

OR 

(b) Describe the qualities of a good advertising copy. 

15. (a) State the limitations of cyber marketing. 

OR 

(b) What are the elements of Green Marketing? 
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SECTION – C    ( 3 x 10 = 30) 

    Answer Any THREE Questions 

16. Explain the various functions of marketing. 

17. Why new product fails? What are the critical forces influencing the management of products? 

18. Discuss the factors that influence channel decision. 

19. Describe the various kinds of advertising. 

20. List out the merits and demerits of direct marketing. 

 

 @@@@@@@@@@ 



Register Number: C-3304 
Name of the Candidate: 

M.COM DEGREE EXAMINATION, DECEMBER-2021 

(FOR AFFILIATED COLLEGES) 
 (FIRST SEMESTER) 

21PCOMC14 ADVANCED BUSINESS STATISTICS 

Time : 3 Hours Maximum :  75 Marks 

Part-A  Marks:  10 x 2 = 20 

(Answer ALL Questions) 

1) Define Correlation.

2) State the meaning of Regression.

3) Recall the rules of Probability.

4) What do you mean by normal distribution?

5) Spell out the meaning of Sampling.

6) State the purpose of testing the hypothesis.

7) What is Chi square distribution?

8) Interpret the uses of Chi square distribution.

9) What is F distribution?

10) State the meaning of ANOVA.

Part-B  Marks: 5 x 5 = 25 

                         (Answer ALL Questions) 

11 a) State the types of correlation. 

(Or) 

b) Calculate the regression equation of X and Y from the following data:

X 1 2 3 4 5 

Y 2 5 3 8 7 

12 a) The mean of a binomial distribution is 40 and standard deviation is 6. Calculate n, p and q. 

(Or) 

b) Narrate the applications of Normal Distribution.

13 a) State the Merits of Sampling.  

(Or) 

b) In a quality department of manufacturing paints, at the time of dispatch of decorative paints,

30% of the containers are found to be defective. If a random sample of 500 is drawn with 

replacement from the population, What is the probability that the sample proportion will be less 

than or equal to 25% defective? 
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14 a)   Describe the conditions for applications of Chi – square test. 

(Or) 

b) The number of automobile accidents per week in a certain city were as follows: 12, 8, 20, 2, 14,

10, 15, 6, 9, 4 . Are these frequencies in agreement with the belief that accident conditions were

the same during this 10 week period?

15 a) Summarize the steps involved in calculation of one way ANOVA. 

(Or) 

b) The following represent the number of units of production per day turned out by 4 different

workers using 5 different types of machines:

Machine Types 

Worker A B C D E Total 

1 4 5 3 7 6 25 

2 6 8 6 5 4 29 

3 7 6 7 8 8 36 

4 3 5 4 8 2 22 

Total 20 24 22 28 20 112 

Marks: 3 x 10 = 30       Part - C 

(Answer Any Three Questions) 

16. Find the Correlation coefficient between age and playing habits of the following students:

Age 15 16 17 18 19 20 

No. of Students 250 200 150 120 100 80 

Regular Players 200 150  90 48 30 12 

17. In a post office, three clerks are assigned to process incoming mail. The first clerk B1 processes

40%, the second clerk B2 processes 35% and the third clerk B3 processes 25 % of the mail. The

first clerk has an error rate of 0.04, the second has an error of 0.06 and the third has an error rate

of 0.03. A mail selected at random from a day’s output is found to have an error. The Post Master

wishes to know the probability that the mail was processed by the first, second or third clerk

respectively.

18. Enumerate the different methods of Sampling.
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19. Of the 1000 workers in a factory exposed to an epidemic, 700 in all were attacked, 400 had been

inoculated and of these, 200 were attacked. On the basis of this information, can it be said that

inoculation and attack are independent?

20. Four Machines A, B, C and D are used to produce a certain kind of cotton fabrics. Samples of size

4 with each unit as 100 square metres are selected from the outputs of the machines at random, and

the number of flaws in each 100 square metres are counted, with the following result.

A B C D 

8 6 14 20 

9 8 12 22 

11 10 18 25 

12 4 9 23 

Do you think that there is a significant difference in the performance of the four Machines? 

@@@@@@@@@@ 
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Part-A  (Marks:10 x 2 = 20) 

Answer ALL Questions 

1. Define Managerial Economics.

2. What is meant by Decision-Making?

3. Define the term 'Demand'.

4. What is macro-economic forecasting?

5. What do you understand by Production Function?

6. What do you mean by opportunity cost?

7. What is Market Structure Pricing?

8. What is meant by economies of size?

9. Define Product line pricing?

10. What is meant by Profit Planning?

 Part - B  (Marks: 5 x 5 = 25) 

             Answer ALL questions 

11. a) Bring out the scope of Managerial Economics. 

(OR) 

b) Explain the various objectives of modern firms.

12. a) What are the factors influencing of Elasticity of Demand? 

(OR) 

b) Differentiate between short term and long term forecasting.

13. a) Write a note on Long run Average Cost. 

(OR) 

b) What are the uses of Production Function?

14. a)  Distinguish between Long period market and Short period market. 

(OR) 

b) Define the term Equilibrium. What is the formula for finding out the Equilibrium of the

firm?

15. a) Explain the different phases of Business Cycle. 

(OR) 

b) State the importance of Price Discrimination.
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(Marks:3 x 10 = 30)         Part - C   

Answer the any Three questions 

16. Explain the important role of a Managerial Economist.

17. Describe the various methods of Demand Forecasting.

18. Elucidate the merits and demerits of cost output relations.

19. Discuss cost oriented and competition oriented methods of pricing.

20. Describe the various methods and approaches of pricing.

@@@@@@@@@@ 








































































